ELEHE — AEEREE  REGBE ﬁ%ﬁ%ﬁm BATSHE ATSHE — SECEHE

A - N % 06011 A
kil ?Eifﬁ YQY z;zmqﬁ% [ wENE ies| 5| s 0 S|
— Hﬁﬂﬁﬂ% CEE 4:L mﬁuem Zihig o I E | 50%
i 0 06015 ERE 06017 == 7
7 A=) 1bﬁliﬂ.’ 1l’.ﬁ|b§ﬂ§ :t{auzm F | 40% II:I:II Eﬁ'_l
ﬁmau QZ @ G
mugtm Tﬁﬁlﬁﬂ%

=
an

0=
=)
2

5 70% 30%
==
05 (HEE) (6
—— —
X p—— — . r
8 A {7
- ‘ -
x\//\\
;
” / /%m s ETR
— 15301 7 / RMQ“‘(_E&«y/#Iﬁ\Z s ey
= e . - /‘/_/(‘“’1 p=ENE ]
— (S e _ — g
R o
Vs — —
B —— / | o
— — Ay T /g,/ &iﬁg //»;f;//
= S————————5F — JREET ——
P
—
e
)
... /
\ /
L_—,
i
/
v/ //:57
/5 /
5
s )
— / sy




